000

5./0

0./5

3.20

5

Sl L L R L B B 40T T T T T T T T T T T T T T 10 I L L A
- b e A [ ] [ 1
AR DA AN AV XA IV r B b ,
res ‘ 4 [ 1 | i
@ OGO §<><><<>>:§:©<§>@@@{v s i 7 8 7
ofF : oo [ ) [ ]
e ] [ ] r 1
3 r ]
g ] F ] L i
= ] T L 4
« S5F 1 1 ] 6 B
= ] i 1 : :
0r N [ ] L ]
] a E—t .
I o
o) E N N B S B R B 0. e ] 2 - T
00 02 04 06 08 10 0.5 1.0 15 2.0 25 3.0 5 10 15 20 25
phase ¢y H-K V—K
15.0C ‘ ‘ ‘ ‘ pal
1450 —]
’5)‘ = ]
=
o
o
130 ‘ ‘ ‘ ‘ =
40 ‘ ‘ ‘ ‘
E =
£ 20—
=3 — ’
2 O WO st T R O S A et S T TG T
5 0= i el il il (i ke it Rk il il il il el il el el i M il
T
o —20—
s O
o —
—40C ‘ w : :
1.0C ‘ ‘ ‘ ‘
o =
S 08—
£ 08—
S =
c 06—
-
B 04—
[0 —
s -
£ 02—
o —
0.0 ‘ ‘ ‘ -
o 100 200 300 400
time [yr]
778: T T T T T T T | 4)(10‘3; T T T T T T 7:
T8 8. T
-7.7F ; o ] ERELI
; . oo L ; T 3000 K
5 f Co D] :
E 760 Lel 1 4 & 2x107E . g L 3.70 Lo
N o i ] g i Mass 0.75 Mg
e : EREERIE S E _
st ol o ] 5 | 19(C-0) 8.20
E o o ' ] E E|
~7.4E ‘ R ‘ ‘ ‘ ) 3 ob . . ‘ ‘ ‘ ‘ ‘ E C/O 1.55
—6.4F T T T T T T T ] 15F T T T T T T E AUP 2 km/S
—6,3? o X D§0.36 é — op E fL 1.0
E ' ' E| ~ C |
: ° gl E 4 class pp
7 -62F : 1 = ]
o E =N = > F ]
E : - 12 o |
s °% o E 3 | %i E
E o E| -5 : R M- .
ol e, - : : S ¢ 3 No wind
-6.0F © ! . 3 T 1ok Lo P R S
: SN T T T N .
-5.9F ‘ ‘ ‘ ‘ ‘ ‘ ‘ E 5B ‘ ‘ ‘ ‘ o 3 Period 294. d = 0.806 yr
-25 : : : : : : : 3 Lo : : : : : T Rodius 268, Ry
r 1 logg —0.54
“24F no& foao 1 gosf 1AMy 0210
: ;7 =040 E 1
= —2.3F o D: ' 3 Z 0.6~ * X
g E o E s T 1 Colour mean / min / max / range
— E ' El Kl t g B-V 2.12 2.08 2.14 0.06
> -2.2p . o o E g 041 7 V—1) 2.39 2.35 2.42 0.07
E . o E| 2 F 4 V—K 540 531 548 0.17
b A ER N 1 (J-H) 094 092 097 0.06
TR - - k| T E J—K 1.45 1.41 1.48 0.06
E Coo Dag ! E i 1 (H=K) 051 049 053 0.04
—20E ‘ R L E 0.0 b sommmpesnen—r : : : «
401 403 411 412 402 404 406 408 410 412
time [yr] time [yr]



gas velocity [km/s]

log density [g/cm?]

Toes [K]

Note: Time increases downwards. Scales OK for last curve (bottom black)
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